Theorem 18




Thm 17 parts 2 and 3
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Thm 19

Part 1: given a line and a point not on the line, there exists a line perpendicular to the given line that includes the given
point.

Part 2: Given a line and a point not on the line, there exists at most one line (ie. there cannot be 2 lines) that is
perpendicular to the given line that includes the given point

Part 3: Given a line and a point on the line, there exists a line perpendicular to the given line that includes the given
point.

Part 4: Given a line and a point on the line, there exists at most one line (ie. there cannot be 2 lines) that is perpendicular
to the given line that includes the given point.



